SP-11 I/Z.00logy/CC-1C/GE-3/22
B.Sc. 3rd Semester (General) Examination, 2022 (CBCS)
Subject : Zoology
Course : CC-1C/GE-3
(Physiology & Biochemistry)

Time: 2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required 1o give their answers in their own words

as far as practicable.
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L. Answer any five questions of the following: 2x5=10

EI6T & G Al At Seq wie o

(@) Write the ionic changes that occur in case of depolarization of action potential.

&1 et99 (action potential) fT<ew Sz wiEfae ARSI (=re= |

(b) Mention briefly the role of bile in digestion.
AN Peam™ o et @
(¢) Name four structural proteins present in the skeletal muscle.
FEE (RIS RS SR AR e A (02 |
(d) What do you mean by vital capacity?
TFAEFE (vital capacity) 9o F @I@AN?
(e) Write the physiological function of Thyrocalcitonin,
ARG wifaq@m wer @
(f) What do you mean by ‘Bohr effect’?
@I 9T (Bohr effect) 9eice F Al s
(g) Write two examples of saturated and unsaturated fatty acids.
TG & e il wibicsa wl aca Sz (S1el |
(h) What js ransamination?
SR 9y
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2. Answer any nvo questions of the following:
I @) w5 A Taq wle ¢
(@) What is GFR? Explain the factors that influence GFR.
GFR ®1? GFR (& 2olfq® ara Qs sl g aal|

(b) Give an account of the ovarian changes that occur during ‘Menstrual cycle’ with proper

diagram.
SCE1 DT (menstrual cycle) w1 fostiaa Afasaef s Gave i am)

1+4

(¢) What is urea cycle? Summarize the steps involved in urea cycle.

LR v e siewest T o RaR @)
(d) What is saponification number? Discuss its importance.

AR 99 e @ vy AT FE) |
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3. Answer any rwo questions of the following: 10x2=20

AR T @ 75 A Sed e ¢

(a) Elucidate briefly the propagation of action potenti

note on cardiac cycle with proper diagram.

TS FITears A<we BIR FRCFCA (RN | 20D FT~9lF G35 g e Tiet et |

al in myelinated nerve fibre. Add a brief

(b) Discuss the reactions of citric acid cycle. Write basic differences between starch and
cellulose. 8+2
AEGF St soen RfE S 3| BE @ GRS S (N sitey @t |

(c) Write the histological structure of Pancreas. Write the effect of insulin on carbohydrate

4+6

metabolism.
S HATGE AT Al | FABEGE Folierd Toq YT e Ry |
and noncompetitive inhibition in context

(d) Whatis Lineweaver-Bark plot? Explain competitive
347

of Lineweaver-Bark plot.
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